4.72 Find the Thévenin equivalent with respect to the
e terminals a,b (or the circuit seen in Fig. P4,72,

Figure P4.72

301,

5.4 The 330k{} feedback resistor in the circuit in
psrice Fig, P5.13 is replaced by a variable resistor Ry. The

voltages v,— vy have the same values as given in
Problem 5.13(a).

a) What valuc of Ry will cause the op amp to satu-
rate? Note that 0 = Ry = co.

b) When Ry has the value found in (a), what is the
current (in microamperes) into the output ter-
minal of the op amp?

Figure P5.13
330k
55 k0 M
+ 66k

*—— WA
p 220 k&)
*—W\—

v 550k0E v, 3 33k

617 The current shown in Fig. P6.17 is applied to a
rrice ().25 wF capacitor. The initial voltage on the capaci-
tor is zero.

a) Find the charge on the capacitor at f = 30 us.
b) Find the voltage on the capacitor al¢ = 50 ps.

¢} How much energy is stored in the capacitor by
this current?

Figure P6.17
i{mA)

501

L1 S s
0| 10 20 30 4b 50 £o0 70 ()

—50—

7.25 Both switches in the circuit in Fig. P7.25 have been
rsrice closed for a long time. At ¢ = 0, both switches open
simultaneously.

a) Find i (1) for ¢ = 0*.
b) Find (1) for = 0.

c) Calculate the energy (in microjoules) trapped in
the circuit.

Figure P7.25

t=0 2 k0 t=U><
= #+ ' )

[

25mA $8kO I 150 nF w,,TaoOnF 10kO

8.51 The switch in the circuit of Fig. P8.51 has been in
rrce position a for a long time. At ¢ = ( the switch
moves instantaneously to position b. Find

2) v,(07)
b) du,(0*)/d:
c) wy(t) forr = 0.

Figure P8.51

200mH

Calculate the following complex number:
(1+3j)+(2-2j)/(2+j). Give answer in both
Cartesian and angular (magnitude and phase)
form.
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